

**PROPERTY DETAILS REPORT** 

St. Louis County, Minnesota



## Date of Report: 5/15/2025 1:53:15 AM

			General De	tails					
Parcel ID:	475-0010-0	4941							
Document:	Torrens - 90	8049							
Document Date:	06/15/2011								
		Le	gal Descriptio	on Details					
Plat Name:	NEW INDE	PENDENCE							
Sectio	n	Township	R	ange		Lot		Block	
30		52		17		-		-	
Description:	THENCE S	00DEG02'53"E A 55"W 749.83 FT	T OF NE1/4 OF SI LONG E LINE OF TO W LINE OF S	SEC 30 396.37	7 FT TO P	T OF BEG	OF SAID LINE T	HENCE	
			Taxpayer De	etails					
Taxpayer Name	FORD MAT	THEW W & NICC	DLE E						
and Address:	6209 SCHE	LIN RD							
	CULVER N	CULVER MN 55779							
			Owner Det	ails					
Owner Name	FORD MAT	THEW W							
Owner Name	FORD NIC	DLE E							
		Pay	able 2025 Tax	Summary					
	2025 -				\$1	,585.00			
	2025		anta		·				
		-	al Assessments \$85.00						
	2025	Total Tax &	Special Asses	ssments	\$1	,670.00			
		Curren	it Tax Due (as	of 5/14/202	5)				
	Due May 15		Due Octob	er 15			Total Due		
2025 - 1st Half T	ax \$835	00 2025 - 2	nd Half Tax	\$83	35.00	2025 - 1st	Half Tax Due	\$835.00	
2025 - 1st Half Tax Paid		00 2025 - 2	2025 - 2nd Half Tax Paid		\$0.00	2025 - 2nd Half Tax Due		\$835.0	
2025 - 1st Half I	Due \$835.	00 2025 - 2	nd Half Due	\$8	35.00	2025 - Tota	al Due	\$1,670.00	
			Parcel Det	aile					
Property Address	6209 S SCI	IELIN RD, SAGIN		ans					
School District:	2142								
Fax Increment Dis									
Property/Homeste	eader: FORD, MA	THEW W & NIC	OLE E						
		Assessme	ent Details (20	25 Payable	2026)				
Class Code	Homestead	Land	Bidg	Total	Def L		Def Bldg	Net Tax	
	- Owner Homestead	<b>EMV</b> \$39,600	EMV \$230,200	<b>EMV</b> \$269,800	EM \$0	1	<b>EMV</b> \$0	Capacity	
(Legend)	00.00% total)	φ39,000	φ230,200	φ20 <del>3</del> ,000	<u></u> هر		φυ	-	
201 1	00.0070 (0(a))	\$39,600	\$230,200	\$269,800	\$(		\$0	2475	



## **PROPERTY DETAILS REPORT**

St. Louis County, Minnesota



## Date of Report: 5/15/2025 1:53:15 AM

							n. o/10/2020 1.00.10 / in		
				Land D	etails				
Dee	ded Acres:	8.76							
Wat	erfront:	-							
Wat	er Front Feet:	0.00							
Wat	er Code & Desc:	W - DRILLED WE	ELL						
Gas	Code & Desc:	-							
Sew	ver Code & Desc:	S - ON-SITE SAM	NITARY SYSTE	EM					
Lot	Width:	0.00							
Lot	Lot Depth: 0.00								
The https	dimensions shown are no s://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/f	urvey quality. A rmPlatStatPop	dditional lot	information can be here are any questi	found at ons, please email PropertyT	ax@stlouiscountymn.gov.		
			Improveme	ent 1 Deta	ails (RESIDEN	CE)			
I	Improvement Type	Year Built	Year Built Main Floo		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.		
	HOUSE 2008		1,69	92	1,692	-	RAM - RAMBL/RNCH		
	Segment	Segment Story Wie		Length Area		Foundat	ion		
	BAS		8	8 24 192 FL		FLOATING	ATING SLAB		
	BAS	1	30	50	1,500	FLOATING	SLAB		
	DK 1		8	8 16		POST ON G	GROUND		
	DK 1		8 24		192	POST ON G	ROUND		
	Bath Count Bedroom		ount Room (		Count	Fireplace Count	HVAC		
	1.0 BATH	3 BEDROOM	3 BEDROOMS			0	CENTRAL, PROPANE		
			Improven	nent 2 De	tails (ATT GAR	२)			
- 1	Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE		2013	720	C	720	-	ATTACHED		
	Segment Story		Width Length		Area	Foundat	on		
	BAS 1		24	30 720		FLOATING	SLAB		
			Improve	ment 3 D	etails (12 X 16	)			
I	Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
S	TORAGE BUILDING	0	192	2	192	-	-		
	Segment	Story	Width	Length	Area	Foundat	ion		
BAS		1	12	16	192	FLOATING	SLAB		
	LT	1	8	12	96	POST ON G	ROUND		
			Improve	ment 4 D	etails (SAUNA	)			
-	Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	SAUNA	0	128	3	128	-	- -		
	Segment	Story	Width	Length	Area	Foundat	ion		
BAS		1	8	16	128	FLOATING	SLAB		
	DKX	1	6	8	48	POST ON G	ROUND		
Improvement 5 Details (WOOD SHED)									
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.									
s	TORAGE BUILDING	0	375	5	375	-	-		
	Segment	Story	Width	Length	Area	Foundat	ion		
1	BAS	1	15	25	375	POST ON G			



St. Louis County, Minnesota



		Improveme	ent 6 Details	(CHICK COC	)P)				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	ross Area Ft <sup>2</sup>	Base	ment Finish	St	yle Code & Desc.	
STORAGE BUILDING 0		10	0	100		-		-	
Segment Story		y Width	Length	Area		Founda	tion		
BAS 1		10	10	100		POST ON G	ROUND	)	
		Improve	ement 7 Det	ails (8X9 ST)					
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	Gross Area Ft <sup>2</sup> Bas		ement Finish Style		yle Code & Desc.	
STORAGE BUILDIN	IG 0	72	72					-	
Segment Story		y Width	Length			Foundation			
BAS 1		8							
LT	1	8	9	72		POST ON G	ROUND	)	
		Improver	nent 8 Detai	ils (POOL DK	()				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	ross Area Ft <sup>2</sup>	Base	ment Finish	St	yle Code & Desc.	
Г	0	64	•	64		-		-	
Segment Story			Length			Foundation			
BAS	0	8	8 8 64			POST ON G	ROUND	)	
		Improve	ment 9 Deta	ails (8X15 ST)					
Improvement Type Year Built		Main Floor Ft <sup>2</sup>				ment Finish	St	yle Code & Desc.	
STORAGE BUILDIN			-						
Segment Story		•	v		Foundation				
BAS	BAS 1 8 15 120		120		POST ON GROUND				
	:	Sales Reported	to the St. L	ouis County	Auditor				
Sale Date Purchase Price CRV Number						er			
06	5/2011		\$105,000	)			193675		
		A	ssessment l	History					
Class Code		Land	Bida	Bldg Tota		Def al Land		f Ig Net Tax	
Year	(Legend)	EMV	EMV	EN		EMV	EM		
	201	\$39,600	\$221,80	0 \$261	,400	\$0	\$0	) -	
2024 Payable 2025	Total	\$39,600	\$221,80	0 \$261	,400	\$0	\$0	2,384.00	
	201	\$34,600	\$201,00	0 \$235	,600	\$0	\$0	) -	
2023 Payable 2024	Total	\$34,600	\$201,00	0 \$235	,600	\$0	\$0	2,196.00	
	201	\$29,100	\$198,40	0 \$227	,500	\$0	\$0	) –	
2022 Payable 2023	Total	\$29,100	\$198,40	0 \$227	,500	\$0	\$0	2,107.00	
	201	\$29,100	\$180,90	0 \$210	,000	\$0	\$0	) –	
2021 Payable 2022	Total	\$29,100	\$180,90	0 \$210	,000	\$0 \$0		1,917.00	
		1	Tax Detail Hi	istory					
			Total Tax a						
Tax Year	Тах	Special Assessments	Special Assessmer		Land MV	Taxable Building MV T		Total Taxable MV	
2024	\$1,749.00	\$85.00	\$1,834.00	\$32	,245	45 \$187,319		\$219,564	
2023	\$1,793.00	\$85.00	\$1,878.00	) \$26	,956	\$183,779	9	\$210,735	
2022	\$1,821.00	\$85.00	\$1,906.00	\$26	,559	\$165,10 <sup>-</sup>	1	\$191,660	



**PROPERTY DETAILS REPORT** 





**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.